Trashketball







Point Valyes

Students may choose where to shoot from....

3 point shot (Make it rain!!!)
2 point shot (Jump Shot!!)

1 point shot (For those that do not want to shoot!)



Find the slope given two points

@ (1, -2) and (-1, -3) (-4, 3) and (-4, 6)
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Find the slope....







Find the slope given the table....

@ Option A 6. OptionB
Y(5in
thousands)

X (years) Y(Sin
thousands)

32

5 31 2 34
3 35 3 36
4 39 4 38

‘m=<-]



Write the equation of this éraph in slope-
intercept form.
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8. Describe the correlation and trend.
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Whidh of the followng is the best prediction for beach
visitors in 100? heat if this trend ceatinues?
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y > 1/2x +6




If f(x) = 2x + 3, find each value.
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If f(x) = 5 + 2x2, find each value.

_ :.54-2'(__{_{)‘1.
@ =R+ 52
=51



W W W W W [

11
14
18

Rate of change:

Graph description:
positive, negative,
zero, or undefined?
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Write an equation in slope—intercept
form for the line with the given slope
and y—intercept.

m=-3 point: (0, 2/3)



What are the x & y-intercepts of
this equation?
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Delermine which ordered PUrS are part ﬂf the solution set
fﬁ# each f;féfﬂﬁf%&, 3x + 4y <7

1(11),(2,-1),(-11),(-2,4)}




Write an equation in point-slope form.

(1,1);(3,2)

Now rewrite thot equation in slope-intercept form



Write an equation in slope-intercept form for the
line that passes through (4,-1)
and is parallel to the graph of ¥ = %:c +7



Determine whether the graphs of the following equations
are parallel or perpendicular. Explain.
y=-2X,2y=Xx,4y=2x+4

=Ly N = L X+l




Write an equation in slope-intercept form for the line
that passes through (-4,6) and is perpendicular to the
graph of 2x + 3y = 12.



What type of correlation?

Weight-Lifting

What is the trend?

Draw 2 line of best fit?
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Is this 2 function???



Alicia is planning her wedding. She needs
to buy tablecloths and burlap for the
tables. She wants to spend $327 on the
tables. The tablecloths cost S11 each and
the burlap cost $9 each .

a) Write an equation representing this situation.

b) If Alicia decides to buy 18 pieces of burlap,
how many tablecloths can she buy?
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Find the slope.
Graph.

Describe the graph.
Domain?

Range?



